Body: Years.:2002 -; V:2,5TD - 4WD
VIN:-WUWZZZ3BZ3P000000 TYPE : 26.465

VW Passat B6

M 8x30 through spacers

\_

! i S .
P
& n '
0
4 fix the rear skxd plate to lug:
located on the car frame with bolts.

5Fix the front part of the skid plate to
mounted beam with bolts M 8x20.

1.Remove OE duster.
2.Remove slat from the car

frame. j
3.Fix skid plate's beam “1” to M8x20

radiator beam with bolts M
8x30 and nuts.

6.Fix lateral protective witngs to the skid plate with bolts M 8x20.
7.tighten all screw joints.

M 8x20 @ 14x 8

M8x30 N/ 2x SpeciakSD7001

M8 %j & 2x  Wings
@ 2% Spacers

h




